Cournot game
You will now play a market game with two other students. We will play a total of 3 rounds.
Each of you is a company selling detergents. Consumers think that your products are pretty much identical, and are therefore not loyal to any particular brand. The price of your product depends on how scarce detergents are: specifically, P= 100- q1 - q2 - q3, so, the more boxes of detergents you produce, the lower the price all of you are going to receive per box.
It costs all of you 10 euro to produce one box of detergent (assume you have no other costs).
Each round, decide the quantity you want to produce. Then compare with your rivals, and calculate the total quantity at the market. Use this to calculate your profits. Repeat such that you do this 3 times.
Your profits are a function of your revenue minus cost: q1*P-10*q1 (amount your produced times price, minus cost times amount you produced), which equals q1*(P-10)
Round 1:
 (
I 
earned
: .........................
)I produced ......
Player 2 produced .........
Player 3 produced .........

Round 2:
 (
I 
earned
: .........................
)I produced ......
Player 2 produced .........
Player 3 produced .........

Round 3:
 (
I 
earned
: .........................
)I produced ......
Player 2 produced .........
Player 3 produced .........

